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BIEIER: S02
48 5H 68 718 88 9H 108 11H 128 1A 2R 3H S
EITER AAIE B 28 31 30 31 31 30 31 28 31 31 27 31 360
I 2 B RS 689 739 715 739 735 714 734 691 739 739 660 739 8633
*F #91E(ppm) 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.000 0.000 0.000)
1B {EHY0.1ppm % 8 Z 7= B R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
B 9{EA%0.04ppmZE B Z 1= H K 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B 1 E D = = (B (ppm) 0.004 0.004 0.005 0.003 0.012 0.005 0.007 0.007 0.006 0.008 0.006 0.003 0.012
B FH){E D x5 fE(ppm) 0.001 0.002 0.001 0.000 0.001 0.001 0.001 0.001 0.002 0.002 0.001 0.001 0.002
#LLAERE & B AHAIE B 28 31 30 31 31 28 31 28 31 31 28 31 359
I 2 B RS 690 739 714 740 738 704 737 690 739 739 668 739 8637
*F #91E(ppm) 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000)
1B {EHY0.1ppmZ #E 2 7= B R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
B 9{EA%0.04ppmZE B Z 1= HEK 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B R E D = = (B (ppm) 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.002 0.002 0.001 0.001 0.001 0.002
B FH){E D x5 fE(ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.001 0.000 0.000 0.001 0.001 0.001
KiR&t AHAIE B 28 31 30 31 31 30 31 28 31 31 16 28 346
I 2 B RS 690 739 713 740 734 715 738 693 738 739 387 681 8307
*F #91E(ppm) 0.000 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000)
1B RE {EHY0.1ppmZ #E 2 7= B R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
B 9{EA0.04ppmZE B Z 1= HEK 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B R E D = = (B (ppm) 0.002 0.003 0.001 0.001 0.001 0.002 0.001 0.002 0.002 0.003 0.004 0.002 0.004
B F#){E D &5 fE(ppm) 0.001 0.002 0.001 0.000 0.001 0.001 0.000 0.001 0.000 0.001 0.001 0.001 0.002
RHEEH AAIE B 28 31 29 31 31 30 31 28 31 5 24 299
8 7E B P 690 739 700 740 735 714 737 689 739 128 586 7197
*F #51E(ppm) 0.000 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000)
1B {EHY0.1ppm % #E Z 7= B R 2K 0 0 0 0 0 0 0 0 0 0 0 0
B 9{EA0.04ppmZE B Z 1= H K 0 0 0 0 0 0 0 0 0 0 0 0
1B E D = =1 (B (ppm) 0.001 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.005 0.001 0.002 0.005
B F#){E D x5 fE(ppm) 0.001 0.002 0.001 0.001 0.001 0.000 0.001 0.000 0.001 0.000 0.001 0.002
HRER AAIE B 28 31 30 31 31 30 31 28 31 31 28 31 361
I 2 B RS 690 738 715 739 737 713 735 689 739 739 666 739 8639
*F #591E(ppm) 0.000 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000)
1B {E HY0.1ppm % 8 Z 7= B R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B 9{EA0.04ppmZE B Z 1= H K 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B E D = =1 (B (ppm) 0.002 0.003 0.002 0.007 0.004 0.003 0.001 0.002 0.002 0.001 0.002 0.002 0.007
B F#){E D x5 fE(ppm) 0.001 0.002 0.000 0.001 0.001 0.000 0.001 0.001 0.001 0.001 0.001 0.001 0.002
E3E] AAIE B 28 31 30 31 31 30 31 28 31 31 28 31 361
I 2 B RS 690 738 715 739 736 715 737 689 738 739 666 739 8641
*F #91E(ppm) 0.000 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000)
1 BFRE {EHY0.1ppmZ B Z 7= B R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
BT 9{EA0.04ppmZE B Z 1= H K 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B 1 E D = = (B (ppm) 0.002 0.003 0.003 0.002 0.002 0.002 0.002 0.003 0.001 0.002 0.001 0.002 0.003
B F#){E D x5 fE(ppm) 0.001 0.001 0.001 0.000 0.000 0.001 0.001 0.001 0.001 0.001 0.000 0.001 0.001
ES ke ERET AAIE B 28 31 30 31 31 30 31 28 31 31 28 31 361
I E B RS 690 738 714 738 737 714 736 687 738 738 666 739 8635
*F #91E(ppm) 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.000 0.000 0.000)
1B {EHY0.1ppm % #8 Z 7= B R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
BT 9{EA0.04ppmZE B Z 1= H K 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B 1 E D = = (B (ppm) 0.002 0.003 0.003 0.001 0.002 0.002 0.001 0.005 0.002 0.003 0.002 0.003 0.005
B FH){E D x5 fE(ppm) 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.001 0.001 0.002
HETH AHAIE B 28 31 30 31 31 30 31 28 31 31 28 31 361
I B RS 691 738 715 739 737 714 737 691 739 738 665 739 8643
*F #91E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.001 0.000 0.000)
1 BFRE {EHY0.1ppm % #E Z 7= B R 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
BT 9{EA0.04ppmZE B Z 1= H K 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B 1 I D B 1= (B (ppm) 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.002 0.003 0.003 0.002 0.003
HEBE DR = 1B (ppm) 0.001 0.001 0.001 0.000 0.001 0.001 0.001 0.001 0.002 0.002 0.001 0.001 0.002)




